Physics 102Rec

Quiz #11
Chapter 27
Name: K&kj - Id#: Sect#:
[
In the circuit shown in the figure, the current I; = 3.0 A. ¢ 12v

(a) What is the value of current I,?
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12_ 18 +343 =0
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(b) What is the value of the emfg if R =10 Q?
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(¢) What is the rate of energy supplied by the emf £?
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In the figure, L =1.0 A, R; =5.0 2, R, =10, and R; = 20 Q. b

(a) Calculate the current in R;.
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(b) Calculate the potential difference V4 — Vg,
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(¢) Calculate the rate of thermal energy dissipated in the three resistors?
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A capacitor of capacitance C is connected to a 12-V battery, as i
shown in the figure. First, switch 82 is open, and switch S1 is closed 4 " C &
until the capacitor is fully charged. Then, S1 is open and S2 is T 12V T °
closed. The voltage across the capacitor reaches 6.0 V after 0.10 s. 5 5 (o)
(a) What is the value of the capacitance C? & / -
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(b) What is the charge on the capacitor at t =0.1 s?
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